                                                            
                Escola do 1.º Ciclo de Arouca
                                                              

Nome __________________________________________________________________    Data __________________

Ficha Formativa – 2º ano

1 – Faz como no exemplo:

10 –   dez  -  uma dezena

20 - ___________________________________________________________________

30 - ___________________________________________________________________

40 - ___________________________________________________________________

50 - ___________________________________________________________________

60 - ___________________________________________________________________

70 - ___________________________________________________________________

80 - ___________________________________________________________________

3 – Completa:

	70 + 10 = ___
	80 – 10 = ___
	80 – 50 = ___
	80 – 0 = ___

	60 + 20 = ___
	80 – 20 = ___
	80 – 60 = ___
	80 – 1 = ___

	50 +30 = ___
	80 – 30 = ___
	80 – 70 = ___
	79 + 1 = ___

	40 + 40 = ___
	80 – 40 = ___
	80 –  80 = ___
	77 + 3 = ___


4 – Completa:

10    -   ____   -     ____    -     ____    -     ____   -   ____   -     ____   -     80

80    -   ____    -    ____    -     ____    -     ____   -    ____   -    ____   -     10

5 – Completa:








____ + 20





____ + 10





50 + ____





80





40 + ____








